
rtl.J[ i=Lgt;i-L.ià &,:Llt iroJl rlsst

[.-uu z] t,'u "*,rr
Qe = KL àlull â+Jl dJl: e[ri)l âllJ üÀr A iaLJl dji !.)L-Gl â*]"

.pr = 10 , px = 5:6il)t ol^tc ,,t -\t ,7ç - B0 ,y' â,lJl ora 6U:Y glo)l Çl;r,3

Qe é1 erii)l È'.: é1 (1(-, l-) 6rsyr d.r-p à"J-É .-_.,,.,:r _1

lpe = 15.!dl ,Ë 1 à.lJl -1* ,-.1lS iil ;lUl èrÀ 

"s 
â.,,,-jJt aliii..r ,_9rll eljl Jlü L" -2

I--uy. z] -sul qr.,.il

:çr)l +Àill e-u!l 'nrJ jli l:1

Objective function: Max z=18.5x1 * 20x2
(0.05xr*0.05x2 < 1100

J 
0.05x1 * 0.1.0x2 < 1800

| 0.10x, * 0.05x, < 2000
[ *,,.., = o

.Z .-ir6il 111: elu 
".'ltt(xl, 

xj) iÀl;ill ÇLr :r- -'l
ÎC-UJCI 1rÂ i'ôri.jjJl t+è drl+^SllJ ôi!{jJl ûli^<ll ..+ 1- ,! yJJ ++_Àtt U'., .,. -2

I=UU:]gt-r"lt
dJYl- ù,.|--"i ,jÀ-i Jl- r+ J+ cJSl (cJtJ)rJt Gyi.l) e-3r:Jl 6UVt orVt ,J:+Jt (,3 tisll ü.1

.4+J)l Ll-tjl

(o/o30 ,%70) 3a rJ3lllt -.,Ç* ..,\s-r

. c-r*;: .r.:ll a* Àll j+Jl.rJl al,- i. ,1-r ÉJJj; ,a:U JS os ,.-L-alyt ,.,1. '..11 ;l;iil ;r-r3J-ul

U-+ll ;ls.i.lte r{r}.,1!

".o, ,o.,al.l : ',uS,ij! rl-rl
(1/1)

N4
^/? ^/z

1V1
Â,+tat a»_./
_---- ül+lt

20 20 20 20 s1

OU 60 40 00 .§2

120 60 30 10 .t?

-olelt '-.,tt, -.,11111 âildJl Ëjtio
i!"-.iJ,,.llJN .E ü..i1 .qc ,.r-or f ll ..;S;rJ!

Jtsi 61t.rt gr.ai: Ji*l- s,lJ! ;j*Jl
2023/22 q'r.§lt jJ"lt JlJllt llÀjl :ôrl-.ll



.,-.hlt ''''rtt, Jlrjl r::r:rt É;lj3
;,1+.-LÀ .â,-êl! .9..r .E+À:ll !; JL.rîll 5ll

dL^r i 6Jlr) æ..âÀ: Jt.,,t ulJi i-LJt
JIJÂll il^i3l :ô.!l-.Jt lê.r dt oi 6,-r.1

L(K,1,7)
.Q, 

"§l eui)l ^L,j,.Jt (I(-, t-) Atl)l r'J.l* à"J-l çr.,.= d
= K x L + 2(80 - 5K - 10f) :cJs*iJt ;' elJè) âJl.:,,,r<r (+,
(ôL - n

lql " (t-52=0 ..(1)

\i: o .- J K - 10,i = 0 ... (2) :.j)ur !_ÉI (é
I a. _ ^ [80 - 5l( - 1.01 :0 ...(3)\r-"

L = 4,K - I :r+, (3) é,.r4r',\, ; - * <=^ K - 2L )+: (Z),+ (1) i^-ii@
(K- , L-) - (8,4) ;\jÀ lJi"i Qa o§l eEi)l ihà: ér e uiyl d-tr. âi]l-il üil

'4=ü1jll 4iJJl j.4Jj+ll oGi,liJl ;. ;jSJt -*++lt r.:s.ll ,-rf-.,.. :dtsl !J"'ill (Ç
lLx« frr fs.xl l0 1 -5 I

It* f,,, L)l_ 11 o -1ollL*u Lr,t L^^l l-s -10 o l

o, = l? âl = -,. r, i, = li i, -;;l = 'rr 
> 0 ,,,r- Â2.iÂ1 :çpr:-J,q,1.,- (c

Qa : 8.4 - 32'.9 (K., L-) - (8,4) '"Jêl .j' eurl *-,-Âi .rF !u]t , .,jô-- érsll -t=pill e:l
pe = 15 jll J ,4 â,lli -.r,_ .jts r:r ÂllJr ora *s i*}Jr 4.ijliJ JJI 3+-it ;rJL (4

n = TR - TC = peee - ?C :,..ri è
n - 15.32 - B0 = 480 - B0 - 400 :a..-r

Max z=18.5x1i 20x2

10.05x, * 0.05x, < 1100 ... (1)

] 0.05x, * 0.t)x2 < 1800 ... (2)
| 0.lOxy * 0.05x, < 2000... (3)
( ,r,xz>o

.z .isr àlrr eL,: .'_:tr(ri, xj)a+iét 1+\+ .:.r- -,1

.s,iJl ,J sL.iiii.*.:.,).:1.- k_.,iS rjgilt âJU- (i
.;gtiilL r+ ê+§.',..,* 

aJ:L*- ,Q.Q§a, * 0.05x, _ 1100 :g+--J (l ) +"lt
B (22000,0). A(0,22000

)Z



Xz (1000

;urgtilLr J^l êii*.âJ.rlr- ,Q.Q§26, * 0.1.0x, = 1g00 :g+..+ (2) .,lirr

D (36000,0). c(0, 18000);.r"r:!ilL Je êS* alrlr- rQ.lQ;s, * 0.I;xr="rb, .a..* ,ar:i:i'',i
- F.(20000,0).8(0,40ô00)
:4-lJ-rll \.JÂ.+!À.ll 

e-UJÈ]j j!.ll '-iÉ"jll

Xr(1000)
llLiJlr,J.Jl cJjj..rr a]ig;1 i"À;ÀiJt r irrl *1, 4il!+ll 4+JUl Js{ ;ajsJt d Àll iiL:^ qs: (+

@ ) [2 ?2., 
* 9 t9*,= i'ffT) lT ffi f .tl"Lq'?,$o-;'. , (0,10x, i 0.0Sx, _ 2000 , (u, 

[o.osrj n o.iûr= iôàà ,*
H(18000,4000) : G( 8000,1.4000) .ri"ri

Max z=18.5x, * 20xr;6+,il âJt-: Êt*: ,r:Jt i..t.,i..,Jr ,,.r .c),.Vr 6X L,j!l 4-tijlt



.t ç

(8000; 14000) :.r"2 -i.<ll âilr rL,l ,rtSt(xi,x)) a$_*,lt Ofj
.e-tjJ,Jl lrÀdË:!üLJl J+ê,-:lixllJË\Àii..,Jl ôLÂll ,Ji âiJJ,Cti+lt 4ri]lJt al,rr."t _l

:ùé,",1- (Ë\irl,.-\l ÉlliiJt Jl.-rl-j g.ü;Jl 
"-L-»+ çt+Jl JiJl aLS .,§l"ilt e^l.j_rJl .t!Jl L}Jr :+

Maxz=18.5x1*20x2
10.05x, f 0.05x, + S, - t199 .,.,r,

._., J 0.05x, -t 0.10x2 + s' + 1800... (2)
'''' ) 0,10x, * 0.05x, + .t3 + 2000 ... (3)

\ xy,x2,.t1,.S2,.§3 > 0
.(xr,xr) - (8000,14000) :Ui ;lslt dJl 1J>À rr. tlJ

.S1 -0,.S2:0,Ss-500 'êL§le jL^'L(x)cJ-»Jt e-UJill .,s,-;+r*ilL :l$c
ô.-J 500 irsll 53 r.Ji.Jl .r. ç+-r .S1,52 u"di:Jl L.À ôiiir,.,Jl ÉLr"Sjt ;rJ

[-..,uy. z] rut "*,rt t-,",,";.l él Â.,^Àll J*,,,,I-ll Êl.lsi"tr éIjr ,âJ1.: ç§ *,s d;l:t c!+lt _,,S:t
lrüJl .$lJ,rll d:liJl

20 .ç,

00 s2

10 s?

r.iLjri.ll tll.". -1
ù+ Js -ülyll ;:i ,t.,:rt 11

Sr = 20 ;St-c *..1c i jitr éJl 
"J..,rJl 

;tr."r (.,-

llLtJt tL,-"- -2
rlr g§ sl3Jl ,rJ.i ,t,rri 11

S: = 120 ;sLc ,,-Li ,j-À! ç:Jll ;Jr$t j:-.r (.+

i+lJl $lrdl
20 s1

60 .s2

120 S?

--§.i+éelt lL.Jt -3
(0.7) cj:tlilt (0.3) a-!Bl .j:l+lr

20 20 Sr : 20(0,3) + 20(0,7) - 20
60 00 Sz=0(0,3)+60(0,7)-42
t20 l0 S: = 10(0,3) +120(0,7) -87

Ss : 87 9 .!:..,,1.:si ,it

Z = 18,511 + 2012 :rÀ+lt
z=1,8,s(0)=20(0)=0

C(0; 18000 Z = 360000
6 (8000; 14000 Z = 428000
H(18000;4000 Z = 413000

F(20000; 0 Z = 370000



jjldl Jjr$i
8L- Qo + zo + zo + zo)/4 - zo .s1

X, - (oo+ 40 + 6o + 6o)/4 - 4o .ç2

x - (10 + 30 + 60 + 120)/4 - 55 .s?

*!r! rlr." -4

ù+ JS.l 6l"-lt -t-J]Jl ,,,. '-t (i

,slo i Ji.-r Érit $ ù+ 
"I.-asi 

(+
53=§§ SL

(ElsL")r.-ilt tL",- -5

J4"s é1,!a rj..c. '§# 3:-u (i
+,-il r;Jl

ù+ JS; êiÉ jÉSi rri:l (ç
Ss : t0 ;Lo\-,.ri 3r ..ijr.,,L:":ri (.1

^-§{-üt
,q,>, ,s..al',1 : rciSJl rl;rl

N4 Iÿ3 N2 /v1

100 40 20 00 .s1

60 00 00 20 s2
00 00 10 10 .§3

ês .5..-ôi , Lllll

100 s1

60 s)
10 .s?


